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10.

Answer all questions.

All questions carry equal marks.

Onty one answer is to be given for each question.

If more than one answers are marked, it would be treated as
WIONg BOSWer.

Each question has four alternative responses mariced serially
as 1, 2, 3, 4. You have o darken only one circle or bubble
indicating the correct answer on the Answer Sheetusing BLUE
BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to epen the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

1/3 part of the mark(s) of ¢ach question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.
Mobile Phone or any other zlectronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rales.

Please correctly fill your Rell Number in O.M.R. Sheet.
S Marks can be deducted for filling wrong or incomplete Rol!
Number.

If there is any sort of ambiguiry/mistake either of printing or
factual nature then cut of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in histher possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently
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True dip of a bed is measured in a
direction

(1) Perpendicular to strike
(2) Parallel to strike

(3) Oblique to strike

(4) All of these

Dip of a bed is measuredin
(1) Vertical plane

(2) Horizontal plane

(3) Axial plane

(4) Inclined plane

Dip direction of a bed is N 15° W.
It’s strike direction is

1) N-S
(2) S15°E
3) N75°E
4 E-W

A bed is recognised on the basis of
(1) Lithological characters
(2) Fossil contents

(3) Degree of effects of erosional
processes

(4) All of these

Clinometer is used for

(1) Determination of strike

(2) Determination of amount of
dip

(3) Determination of dip direction

(4) All of these
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10.

Difference between slope and dip is
(1) slope is of earth surface while
dip is of a bed

slope is formed by erosion
while dip is due to deformation
slope may be changed by
erosional processes but dip
cannot be

(4) Al of these

2
@3)

What is the difference between

strike line and contour line

(1) contour line is related to

topography while strike line is

to bed.

distance between contours may

vary while strike lines are

parallel.

(3) strike line is a vector while
contour line is non-vector.

(4) All of these

@

Geological maps exhibits

(1) Topography

(2) Topography & rock out crops
(3) Structural features of rock
(4) All of these

Hinge of a fold may be
(1) Vertical

(2) Horizontal

(3) Inclined

(4) All of these

A fold with two fold axes is called
(1) Cheveron fold

(2) Box fold
(3) Recumbent fold
(4) Open fold
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Which of the following is a
Cheveron fold ?
@ %))

A fold having horizontal axial
plane iscalled

(1) Isoclinal fold

(2) Cheveron fold
(3) Symmetrical fold
(4) Recumbent fold

Horizontal displacement between
beds due to faulting is called :

(1) Throw of fault
(2) Heave of fault
(3) Slip of fault

(4) None of these

. Fault, parallel to dip of strata is

called _____.

(1) Dip fault

(2) Strike fault
(3) Oblique fault
(4) None of these
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Which of the following effect, is not
caused by hydrostatic pressure on
rocks ?

(1) Decrease in volume of rocks

(2) Increase in density of rocks

(3) Increase in strength of rocks

(4) Decrease in the elasticity of
rocks

Which of the following is a linear
structure ?

(1) Unconformity plane

(2) Cleavage

(3) Boudinage

(4) Joint

Which of the following is used for
recognition of fault in field ?

(1) Discontinuity of structure

(2) Repetition and omission of
strata

(8) Slickensides
(4) All of these

. A fold concave upward and having

older rock in the center is called

(1) Anticline
(2) Antiform
(3) Syneline
(4) Synform

GIS software programmes are
(1) vector based only

(2) raster based only
(3) both vector and raster based
(4) None of these
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Which of the following is afan
vector based software ?

(1) Arc view

(2) IRDISI

(3) ERDAS Imagine
(4) None of these

Components of GIS include
(1) Hardware

(2) Software

(38) Data and method

(4) All of these

Rays of wavelengths shorter than
those visible to eye are

(1) Ultraviolet
(2) X-rays

(3) Gamma rays
(4) All of these

Which of the following band
number is used for land — water
discrimination and hydrological
studies ?

(1) Band 4 (green)

(2) Band 5 (fower red)

(3) Band 7 (infra-red)

(4) None of these

Where is the headquarters of
National Remote Sensing Agency

in India ?

(1) Bengaluru

(2) Ahmedabad
(3) Hyderabad
(4) Debhradun
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Deviation of aero plane from flight
path due to wind during aerial
photography is known as

(1) Drift
(2) Crab
(8) Overlap
(4) Side lap

Parallax bar in remote sensing
context is

(1) viewing instrument
(2) measuring instrument
(3) plotting instrument
(4) None of these

First aerial photograph from a
balloon by Nadar was of which city ?

(1) London
(2) New York
8) Paris

(4) Moscow

Which of the following factors can
affect vertical exaggeration in
remote sensing ?

(1) Airbase

(2) Camera height
(3) Focal length
(4) All of these

. Which of the following MSS BAND

numbers is suitable for geological
investigations ?

(1) Band 4 only
(2) Band 5 only
(3) Band 6 only
(4) Band 5 and 6
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Photo scale of aerial photograph
suitable for mineral exploration is

(1) 1:15000
(2) 1:30000
(3) 1:45000
(4) 1:60000

Orbit of Geostationary satellite is
from

(1) West to East
(2) East to West
(8) North to South
(4) South to North

How many minerals in the Moh’s
hardness scale have calcium ?

(1 4
@ 5
@) 3
@1

Which of the following minerals is
called diasthen ?

(1) Sillimanite
(2) Kyanite

(3) Andalusite
(4) Corundum

. Which of the following minerals

does not occur in metamorphic
rocks ?

(1) Quartz
(2) Gluconite
(3) Garnet
(4) Feldspar
61



35.

36.

317.

38.

39.

61

wH_ Podftawmdad
@ 3
2) 6
(3) 4
(4) 13

TR S grfifa Ta €

(1) @ guiafa g

(2) saftfa Sz awngufifaaa

(3) unfafa g 9w foueht o

(4) wafhfa &z, o il o 9 @
feget s

4/mm TohEew %4 < Tafifa T & -
1) 1A, 4A,; 5m;i

(2) 4A,, 1A, 4m

(3) 2A,, 4A,; 5m

4) 4A,, 1A,; 4m;i

= A4 F1 8 weaeia wggE & gt
iy freea san &) aufify = <ot

g7

(1) 1A 53A, 4m;i
(2) 1A4 6Ay i

(3) 1A, 6m

(4) 1Ag, 6A,; Tm;i

e 4 @+ o1 SgEdaT oA 8 ?
1) & — UAHE
(2) TR — S
(3) UEiET  — i
(@) WikAge - deEe

| 35.

e o S | S T AP A 4 i S S S Abiny —

1=}

36.

37.

38.

Cube has
symmetry.
1 3
@) 6
3 4
(4) 13

triad axes of

Symmetry elements of axinite are

(1) A centre of symmetry only

(2) A centre of symmetry and a
plane of symmetry

(3) A centre of symmetry and one
diad axis

(4) A centre of symmetry, one
plane of symmetry and one
diad axis.

Symmetry elements of 4/mm

crystal class are

(1) 1A, 4A,;5m ;i
(2) 4A,, 1A,;4m
(3) 2A,,4A,;5m
(4) 4A,, 1A,;4m ;i

Which of the following symmetry
elements represent
holosymmetrical class of hexagonal
system ?

(1) 1A 3A,;4m;i

(@ 1A, 6A,;i

(3) 1A,;6m
(4) 1A, 6A,; Tm,i

Which of the following shows
polymorphism ?

(1) Diamond — Graphite
(2) Quartz — Orthoclase
(3) Microcline - Plagioclase
(4) Aragonite - Cerusite
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Which of the following pairs is an
example of isomorphism ?

(1) Diamond — Graphite
(2) Forsterite — Fayalite
(3) Calcite — Aragonite
(4) Pyrite — Marcasite

Which of the following shows

correct order of increasing

hardness of minerals ?

(1) Baryte — Garnet — Galena —
Haematite

(2) Baryte — Haematite — Garnet —
Galena

(3) Baryte — Haematite — Galena —

Garnet

(4) Galena — Baryte — Haematite —

Garnet

Which

minerals
gravity ?
(1) Calcite
(2) Baryte
(8) Quartz
(4) Fluorite

the
highest

among

has

following
specific

On the basis of Tenacity, graphite
18 .

(1) Malleable
(2) Sectile
(3) Flexible
(4) Brittle

Pseudomorphy are formed by
(1) Incrustation

(2) Replacement

(3) Alteration

(4) All of these
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Which of the following minerals
shows conchoidal fracture ?

{1) Quartz

(2) Muscovite
(3) Wollastonite
(4) Andalusite

Name the property of quartz due to
which it is used in frequency
control in communication devices ?

(1) Pyroelectricity
(2) Piezcelectricity
(3) Hardness

(4) Specific gravity

Which of the following minerals
has phyllosilicate structure ?

(1) Biotite

(2) Quartz

(3) Hypersthene

(4) Garnet

Which of the following minerals
has double chain ionosilicate
structure ?

(1) Hypersthene

(2) Diopside

(3) Tremolite

(4) Augite

Which of the following represents
uniaxial positive mineral ?

(1) n,>n,

(2) n,<m,

@) n,=n,

(4) None of these



50.

51.

54,

Fefafes 4 @ a7 o afw wwseiw | 50.

TS @RS § 7
(1) S
(2) Seurse
(3) YwieH
4) @i

ke & ¥ 97 & ' fGenfr | 51,

THIEE T R 7
(1) whH

(2) C=ToETEe
(8) <giw

(4) $PEmEL

. Fefefes 4 @ 9 =1 =fs soEm | 52.

foeito gnfar § 2
(1) BH=is

(2) ST
(3) ETETEAA
(4) 3iiSTge

. Prafirfea # & 9 o wfe sgi g | 58,

27

(1) BEeERA
(2) EH=is
(8) =R
(4) wR=EmRE:

frfofen § ¥ s wrefw wganfit ¢
(1) s

(2) Feurss

(3) el

(4) THZ

L S Py AR A T ——

12

o4.

Which of the following minerals is
a uniaxial positive mineral ?

(1) Zircon
(2) Calcite
(3) Nepheline
(4) Tourmaline

Which of the following minerals is
biaxial positive mineral ?

(1) Sphere
(2) Andalusite
(3) Topaz

(4) Kyanite

Which of the following minerals
shows parallel extinction ?

(1) Hornblende
(2) Diopside

(3) Hypersthene
(4) Augite

Which of the following is a non-
pleochroic mineral ?

(1) Hypersthene
(2) Hornblende
(3) Biotite

(4) Lepidolite

Which of the following is a
pleochroic mineral ?

(1) Quartz
(2) Calcite
(3) Tourmaline
(4) Garnet
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. Trapezohedron has

Which of the following represents
symmetry of calcite ?

(1) 1A, 38A,;3m ;i
(2) 1A,2A,;6m
(3) 1A, 4A,;3m
(4) 1A,,3A,;1

Peridot is a gem variety of ____
(1) Garnet

(2) Calcite

(8) Jadiet

(4) Olivine

Transparent variety of calcite is

(1) Peridot

(2) Demantoid
(3) Icelandspar
(4) None of these

Ruby is gem variety of
(1) Tourmaline

(2) Beryl

3) Corundum

(4) Topaz

What is the number of naturally
occurring open forms in crystals ?
(1) 30

2 18

3) 12

@) 26

faces.
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Which of the following minerals
has tectosilicate structure ?

(1) Garnet
(2) Beryl

(3) Riebekite
(4) Nepheline

Which of the following is not an
inner planet ?

(1) Jupiter
(2) Mercury
(3) Venus
(4) Earth

The most abundant elements
(atoms / 10° atoms of Si) in the
solar system is

(1) Helium
(2) Oxygen
(3) Hydrogen
(4) Carbon

Elements heavier than Bismuth
were formed by

(1) o process
(2) eprocess
(38) ¥ process

(4) s process

x process produces _____
(1) Li,Beand B

(2) He

@3 C

(4) Fe, Mn, Mg
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66.

67.

68.

70.

The average density of the core of
earth is

(1) > 11 glem?

(2) between 5 and 7 g/cm?
(3) between 7 and 9 g/em?
(4) <5 g/em?

Which of the following is a
chalcophile element ?

(1) Li (Lithium)

(2) Ar (Argon)

(3) Ag (Silver)

(4) Fe (Iron)

Platinum is a element.

(1) Siderophile
(2) Chalcophile
(3) Lithophile
(4) Atmophile

Half life period of 235U is
(1) 4.88 x 10 years
(2) 4.47 x 10° years
3) 1.39 x 10 years
(4) 1.06 x 10! years

Percentage of silicate minerals in
the earth’s crust is about

(1) 95%

(2) 65% .

(3) 75%

(4) 85%

Elements with same number of
neutrons but different number of
protons and different atomic
weight are called

(1) Isotopes

(2) Isotones

(8) Isobars

(4) None of these
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73.
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75.

Siderophile elements has affinity
with

(1) Sulphur
(2) Iron
(3) Silica
(4) Oxygen

Which is the plutonic equivalent of
nephelinite ?

(1) Syenite
(2) Gabbro
(3) Nepheline syenite
(4) Ijolite

SiO, content of ultra basic rocks is

1) >66%
(2) 52 —66%
(3) <45%
(4) 45-66%

Alkali — lime index of alkali
igneous rock is

(1) <51
) > 61
(3) 56—61
@) 51-56

Which one of the following is true
for alkaline rocks ?

() ALO,>Na,0+K,0+Ca0
(@) Na, 0 +K, 0 <ALD,
(3) ALO,=Na,0+K,O0
(4) ALO,<Na,0+K,O
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Which one of the following
structures of igneous rocks is used
in  determining  stratigraphic
sequence ?

(1) Joint

(2) Ropy lava

(3) Pillow structure
(4) Flow structure

Grain size of igneous rocks is
affected by .

(1) viscosity of magma
(2) volatile content

(3) rate of cooling

(4) All of these

Eutectic composition for orthoclase
— Albite pair is )

(1) 30:70
@) 45:55
(3) 42:58
(4) 60:40

. Which of the following pairs does

not show eutectic crystallization ?
(1) Orthoclase ~ Quartz

(2) Albite — Anorthite

(3) Anorthite — Olivine

(4) Orthoclase — Albite

Which of the following pairs does
not show solid solution ?

(1) Forsterite — Fayalite
(2) Enstatite Ferrosilite
(3) Orthoclase — Quartz
(4) Albite — Anorthite
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83.

84.

| 86.

] 82. Volatile content of a magma, causes

(1) Increase in viscosity of magma
(2) Decrease in viscosity of magma

(3) Increase in grain size of rock
formed

(4) Both (2) and (3)

In panidiomorphic texture of

igneous rocks

(1) grains are equigranular and

euhedral

grains are equigranular
subhedral

grains. are equigranular
anhedral

grains are inequigranular
euhedral

and

@)

and

3

(4) and
Ophitic texture is found in ____.
(1) Granite

(2) Syenite

(3) Dolerite

(4) Monzonite

Which of the following sequences
represent order of crystallization
from a magma ?

(1) Olivine — Pyroxene — Ambibole
— Quartz

Pyroxene — Olivine — Quartz —
Amphibole

@)

(3) Quartz — Olivine — Amphibole
— Pyroxene

(4) Ambibole — Quartz — Pyroxene
— Olivine
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86.

87.

88.

89.

90.

91.

———— e — —e.

Which of the following rocks does
not have nepheline ?

(1) Phonolite

(2) Nepheline syenite

(3) Rhyolite

(4) Ijolite

Which among the following rocks
has lowest percentage of SiO, ?

(1) Granite
(2) Diorite
(3) Dunite
(4) Gabbro

Diagrammes showing variation of
various oxides with Si0, are called

(1) Harker Diagramme
(2) ACF Diagramme
(3) AFM Diagramme
(4) AKF Diagramme

Spinifix texture is found in ______
(1) Granite

{2) Gabbro

(3) Komatiite

(4) Syenite

Which of the following is a
monomineralic rock ?

(1) Rhyolite

(2) Gabbro

(3) Nephelinite

(4) Dunite

Monzonite is
equivalent of
(1) Rhyolite
(2) Latite

(3) Andesite
(4) Basalt

an Intrusive
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Which rock is called “museum of
minerals” ?

(1) Lamprophyre
(2) Pegmatite
(8) Monzonite
(4) Gabbro

Match the following :
1.Sarnu Dandali a. Basalt
2. Newania b. Granite

3. Mount Abu ¢. Carbonatite

4. Jhalawar d. Alkalaine rocks
(1) 1b, 2¢, 3d, 4a

(2) 1d, 2¢, 3b, 4a

3) 1c, 2d, 3a, 4b

(4) 1a, 2b, 3c, 4d

India’s largest acid volcanic suite
is in state.

(1) Maharashtra
(2) Rajasthan
(3) Bihar

(4) Tamil Nadu

Match the following :
1. Charnockite a. Jalor
2. Anorthosite b. Chennai

3. Nepheline c. Sittampudi
syenite
4. Granite d. Kishangarh

(1) 1a, 2¢, 3d, 4b
(2) 1c, 2d, 3a, 4b
3) 1b, 2¢, 3d, 4a
(4) 1d, 2b, 3c, 4d
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The thinnest layer of sedimentary
rock is called

(1) Bed

(2) Lamination
(8) Stratum

(4) None of these

Thickness of laminationis ___
1) <lem

2) 1-2cm

3 2-10cm

(4) >10cm

Which of the following is not
associated with sedimentation ?

(1) Ripple marks

(2) Rain Prit

(3) Graded bedding

(4) Geodes

Which of the following
sedimentary structures is not

useful for determination of top of
sequence ?

(1) Symmetrical ripple marks
(2) Graded bedding

(3) Rain print

(4) Stylolite

. Degree of roundness of grains in

sedimentary rocks depends upon

(1) Size of particles

(2) Hardness of particles

(3) Degree of transportation
(4) All of these
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Lithificationisa ____ process.
(1) pre-depositional

(2) post depositional

(3) syn-depositional

(4) All of these

In comparison to shale, sandstone

have !

(1) higher ©porosity & higher
permeability

(2) higher porosity & low
permeability

3) low porosity & low
permeability

(4) low porosity &  higher
permeability

The most abundant sedimentary
rock is

(1) Sandstone
(2) Limestone
(3) Shale

(4) Gypsite

Sediments of pai‘ticle size between
1/16 mm to 1/256 mm are called

(1) clay
{2) silt
(3) sand
(4) gravel

Guano deposits are

(1) Chemical deposits
(2) Biological deposits
(3) Residual deposits
(4) None of these
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Which is the correct order with

respect to increasing mineral

stability ?

(1) Olivine — Hornblende — Biotite
— Augite

(2) Olivine — Augite — Hornblende
— Biotite

(3) Augite — Hornblende — Olivine
— Biotite

(4) Biotite — Hornblende — Augite
— Olivine

Stromatolites are formed by .
(1) Algae

(2) Foraminifers

(3) Fishes

(4) None of these

eH and pH conditions for the
formation of pyrite and peat are

(1) eH-03&pH<7

(2) eHO0.1&pH<7

3) eH-03&pHT7-8

4 eH03&pHS

Arkose is formed by erosion of

+

(1) Gabbro

(2) Chlorite Schists
(3) Granite

(4) Quartzite

Metamorphism is caused due to
(1) change in pressure

(2) change in temperature

(8) change in chemical conditions

(4) All of these
o
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Cataclastic
caused by
(1) Hydrostatic pressure
(2) Directed pressure
(3) Temperature

(4) Both (1) and (2)

Rocks follow
pressure.

(1) Riecke’s principle

(2) VontHoff’s principle
(3) Le Chatelier’s principle
(4) Boyle’s Law

metamorphism is

under directed

Magnesium limestone produces
on thermal metamorphism.

(1) quartzite

(2) granulite

(3) schist

(4) forsterite marble

Uralitization is

(1) change of pyroxene to chlorite
(2) change of garnet to chlorite

(3) change of pyroxene to
hornblende and epidote or
zoisite & quartz

None of these

@

Which of the following rocks is not
a product of contact metamorphism ?
(1) Hornfelse

(2) Mylonite

(3) Skarn

(4) Marble

Granulites are formed by :

(1) Thermal metamorphism

(2) Dynamothermal
metamorphism

(3) Plutonic metamorphism

(4) Cataclastic metamorphism

61



117.

118.

119,

120.

121,

61

NEURER:! A |
(1) Tmerse
(2) T
(3) &hH A |
(4) TR I

et da s o afem ef= g ?
(1) CewRERe
(2) =ifduse
(3) ®RvsH |
(4) SR

e FHo i
(1) e o & A

(2) wE T W St

(8) T ¥ gfg 9 o d %t

(4) uia ® 9fg T A | HHt

faddsmarguadaEid ¢

(1) STICTR HRITT — AREHIEE
(2) Teust FEE - @

(3) Teraetta Hrmawn — A=gwTse
(4) wiefeag — FmarR

ST GHT R % BT
BT 2 |

(1) Regaam=
(2) WG T H
(3) et e
(4) AR gm

e 1 iy e g e —

S — it} S— ——— W

25

117. Anatoxis produces
(1) Migmatites
(2) Granulites
(3} Skarn rock
(4) Marble

118. Which of the following is a stress

mineral ?

(1) Andalusite
(2) Cordiesite
(3) Corundum
(4) Kyanite

119.
(1)
@
(3

Decrease in volume only
Increase in density only
Increase in  volume
decrease in density

Increase in  density
decrease in volume

(4)

120. Which of the following is not

correct pair ?

(1) Cataclastic metamorphism
Mylonite

(2) Contact metamorphism
Skarn

(3) Plutonic metamorphism
Granulite

(4) Anatexis — Marble

121. Dynamothermal metamorphism i
caused by

(1) Directed pressure only
(2) Uniform pressure and heat
(3) Heat

(4) Heat and directed pressure

Hydrostatic pressure causes

and

and
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122. Which series is correctly showing

123.

124.

progressive  metamorphism  of

shale ?

(1) Shale - Schist — Phyllite -
Gneiss — Slate

(2) Shale — Slate — Phyllite —
Schist — Gneiss

(3) Shale — Phyllite — Schist —
Slate — Gneiss

(4) Shale — Gneiss — Schist —
Phyllite — Slate

In the Brownian zones of

metamaorphism the lowest grade

of metamorphism is marked by
(1) Garnet

(2) Biotite

(3) Chlorite

(4) Kyanite

Eskola’s facies of metamorphism
may be arranged according to
increasing grade of metamorphism
as

(1) Hornfelse — Sanidinite -
Greenschist - Eclogite -
Amphibolite Facies

(2) Hornfelse — Sandinite -

Greenschist — Amphibolite —
Eclogite Facies
Sanidinite - Hornfelse -
Greenschist — Amphibolite —
Eclogite Facies

@)

(49) Hornfelse — Greenschist -
Sanidinite — Amphibolite -
Eclogite Facies
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126.

127,

128.

129.

—
e
(=

. Most

Number of planets in solar system

s

(1) 8

@) 9

(3) 6

4 7

Mohorovicic discontinuity is

between _

(1) upper crust and lower crust

(2) lower crust and upper mantle

(3) upper mantle and lower
mantle

lower mantle and core

4

The average density of the earth is
(1) 3.53
(2) 7.57
(3) 5.51
4) 6.54

Himalayan mountain belt has been
formed at

(1) constructive plate boundary
(2) destructive plate boundary
(3) conservative plate boundary
(4) None of these

Indus (Sindhu) river is a
(1) Consequent stream
(2) Subsequent stream
(3) Antecedent stream

(4) Insequent stream

destructive and
explosive volcano is called

(1) Hawain type

(2) Strombolian type
(3) Vulcanian type
(4) Plinian type
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131.

132.

i33.

134.

135.

What was the time period of
breakup of Pangea supercontinent
according to Wegner ?

(1) Carboniferous period

(2) Triassic period

(3) Jurassic period

(4) Devonian period

Andes mountain belt is an example
of .

(1) collision of oceanic plate and
continental plate

collision of continental plate
and continental plate

collision between oceanic plate
and oceanic plate

Diversion of plates

@)
(3
(4)

Example of collision between two
oceanic plates is

(1) Himalayan mountain belt

(2) Andes mountain belt

(3) Canadian rocky mountain belt
(4) Japan islands

Karst topography is developed by
the action of

(1) River

(2) Glacier

(3) Groundwater
(4) Wind

U shaped valleys are developed by
(1) River erosion

(2) Glacial erosion
(3) Wind erosion
(4) None of these
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136. Which of the following is Herringbone

137.
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|
|
i
|
| 139.
|
|
|
!
|

drainage pattern ?

500 m —~————200m

\b\,- 200 m

200 m

300 m

Pot holes are formed by
(1) Glacial erosion

(2) Wind erosion

(3) River erosion

(4) None of these

Which of the following is not
formed by deposition work of a
river ?

(1) Alluvial fan

(2) Alluvial cone

(3) Delta

(4) Oxbow lake

Which of the following is an
oceanic erosional landform ?

(1) Coastal cliffs

(2) Beach

(3) Bars

(4) Spit
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140, Mushroom rock landform is formed

141.

142.

143.

144,

145.

by ]

(1) Erosion by river

(2) Erosion by glacier

(3) Erosion by wind

(4) Erosion by groundwater

Morains are formed by _
(1) River

(2) Glacier

(38) Groundwater

(4) Wind

Which of the following is a part of
mid Atlantic ridge ?

(1) Dolphin ridge

(2) Carlsberg ridge

(3) East Pacific ridge

(4) Central Indian ridge

Oldest mineral crystals found on
the earth are of _ .

(1) Baryte
(2) Garnet
(8) Zircon
(4) Beryl

Formation of earliest continental
crust is supposed to be during

(1) 4.2—-4.8bya

(2) 3.8—2.9 bya

3) 2.9-1.4bya

(4) 42-38bya

Sea located between Eurasia and
Africa was

(1) Arabian sea
(2) Caspian sea
(3) Tethys sea
(4) None of these
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146.

147.

148.

149.

Hercyanian occurred

during

orogeny

(1) Carboniferous period
(2) Jurassic period

(3) Permian period

(4) Devonian period

Caledonian occurred

during

(1) Silurian period

(2) Permian period

(3) Devonian period

(4) Late Cambrian period to mid
Devonian

orogeny

The point on the earth surface just
above the point of origin of
earthquake is called i

(1) Focus

(2) Epicenter
(3) Benioff zone
(4) None of these

Which of the following is located in
Seismic zone V of India ?

(1) Rajasthan
(2) Orissa

(3) West Bengal
(4) Manipur

. True dip of a bed is always

(1) equal to apparent dip
(2) more than apparent dip
(3) less than apparent dip
(4) None of these
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